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: THIRUTHANGAL NADAR COLLEGE
* (Belongs to the Chennsivazh Thirsthangal Hindu Nadar Uravinmurai Dharma Fumd)
. A Self Financing Co-Educational College of Arts & Science
Affliated to the University of Madras
Knowledge is Power Re-accredited “B++" Grade by NAAC & An 150 9001:2015 Certified Institution
. Selavaval, Chennai, Tamil Nadu, India
Department Of Mathematics

Even Semester - Mid Semester Examination February 2023
(ALLIED MATHEMATICS-II - SM3AE)

Date : 23-02-2023 Time :1.30 Min.
Class : 1 BSC CS Marks : 40
. Course Hinom's
S.No. Question Outcomes | 1A0nomy
Level
PART-A ({ Answer Any Five QQuestions) (5 X 2 =10 MARKS)
01 | Write Bernoulli’s formula. Co1 K1
02 | Evaluate f;’f 2sin®xcos”x dx. Co1 K6
03 | Solve (D*+ a®)y=0. o1 K3
04 | Solve (D'+ 5D + 6)y = 0. C01 K3
05 | Find L(t") i1 K1
06 | Define Gradient of a scalar point function. Co1 K1
PART-B ( Answer Any Two Questions) (2 X 5=10 MARKS)
07 | Evaluate f;’f *log(1 + tan®)d® il K6
08 | Find the particular integral of (D’+ D + I)y=x. Col1 Kl
09 | Find the value of (a) L[te 3] (b) L|sin3t cos2t]. Co1 Kl
PART-C ( Answer Any Two QQuestions) (2X 10 = 20 MARKS)
m
10 | Find the reduction formula for IM=IU 2 gin™ycos™x dx. Co1 Kl
11 | Solve (D'+ 2D + 4)y = e~ * cos3x. Co1 K3
. Find V@ at (1,-1,2) if 0=x"y-2y'z’.
p | @-FindV0at (- 1D)if0=xy-2yz. C04 K1
(b).Find @ if VO=(6xy+2")i + (3x"-z) j+(3xz"-v) k.




NAAC CYCLE Il - AQAR 2.5.1.Mechanism of Internal Assessment

Thiruthangal Nadar College 2.5. Evaluation Process and Reforms Year: 2022-2023

Knowledge is Power

* THIRUTHANGAL NADAR COLLEGE
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A SefFinmdns Co-Fduwational College of Art: & Science

Thiruthangal Nadar College Affiliated tothe Univerdty of Madras

Re-nccredited B+ Grade br NAAC & An IS0 9001:2015 Certified Instifution
I Semvayal, Chemai, Tamil Nadn, Tndia

Department Of Mathematics
Even Semester - Mid Semester Examination February 2023
(ELEMENTS OF OPERATIONS RESEARCH — C7344,/B5344)

Date: 24-02-2023 Time :1.30 Min.
Class: Il BCOM AJF Marks : 40
) Course Bloom's
SNe. Question Outoomes I mhmmm}'
PART-A { Amswer Any Five Questions) (EX 2=10MAFKS)
01 | Define ‘Initial Basic Feasible Solution”. 4 K1
02 | Define ‘Degenerate Solution’. C04 K1
03 | What is Hungarian method? 4 K1l
04 | Define pavoff matrix Cos Kl
05 | Who is plaver? Cos K1
06 | What is zero-sum game? Cos K1
PART-B ( Answer Any Two Questions) 2X 5= 10MAFKS)

Determine basic feasible solution to the follow ing transportation
roblem by using NWC rule,

=ink supply
A[B|C|D|E .
7 |l ovgim [PT2(I (O[3 7] 3 Co4 K3
Q1[4 ] T7]2[1 ]
R{3|9]4]|8][12 ]
Demand [3| 3[4 |5] 6
=olve the following assignment problem.
TASK
I | II{INT | IV
08 All6|52| 34|22 Co4 K3
WORKERS |B |26 | 56| 8 | 52
C|76|38] 36 |30
D352 48 |20
Obtain the optimum strategy described by the matrix.
Plaver B
Sl31 [0 .
9 || Pavera [5 [5[4] 6 cos K3
4 -2|0]-5




PART-C ( Answer Any Two Questions)

(1X10=10
MARKS)

10

Solve the following transportation problem.
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Solve the following assignment problem
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Solve the following game by dominance and find the game value.
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